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2. let f(x) = x*~6x2+10x- 6 and g(x) =x-3. What is the solution set for % f(x) = Q(ﬁ@

-L(x,;..wxz* r _.,‘:' ‘-1."..'. #, |
-t 110X -0 = 2%

A) -6,-3,3 B) 0,3, 5
- ) 0.3,6 C) -1.-2,3 (D)o0.2.4 IR |
| ' x (X~ X*Q}ﬁﬁww.
3. The equations 3x2 +éx = 4 s rewritten in the form 3(x - h)2 + g = 0. What is the value of q ¢ X(X"q‘
BAHOK-N =0 vermext (-1,-1) = G =] X6, X=H4 %=L
A -7 B) -1 E)1 D) 7 .

3-B. The equations 3x2+éx = 4isrewritten in the form 3(x—h)2 + g = 0. What is the value of h ¢

B) -7 -] C) 1 D) 7 )

4) A box with an open top is going to be constructed from a rectangular piece of cardboard.

| e The cardboard measures 10 x 18 inches.
| o The boxis formed by cutting equal sized squares of side x, from the corners of the cardboard, then
| folding the sides up.
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What is the domain of the function V(x) that gives the volume of the box?
1B 1R )

B) 0<x<9 C) 0<x<10 D) 0<x<18
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(sin?6- cos?6)
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8. The diameter of an apple pie is 9 inches. If the intercepted arc (the crust) is 3 inches, what is the
measure of the central angle made by cutting your slice of pie. Give your answer in radians. |

A) 117/3 B) 1/3 C)y 2/3 D) 2n/3
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| Arc wwg\-v\: S Y oty § 2= WS

9 What is the value of x in the triangle below?

L sinLd~ 2 s O, 39
- i ATE R,

s = Y - a/ o = x= 1, 3013 tan el

] Y =10.3925 /‘:n

A) 12V3cm B) 16 cm C) 6¥3cm 1cm .

The amount of tissue paper used to cover a spherical ball is 144 square inches. What is t+
the ball2  Hint: SA = 4mir? V = 4/3 tir?
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farmer wants to buy between 80 and 100 acres of land. He is wiling to pay up to $2:
here is a rectangular field for sale that is 200 by 2,000 yards that is selling for $75,000.
property meet the farmer's requirements?  wod x yp Feet

(1 acre = 43,560 2)

- Yes, the land is the right size and the price is low enough
,Er‘ No the price is low enough, but there is too much land
£ No, the price is low enough, but there is not enough land
D. No, the land is the right size, but the price is too high

oll.

12. Guidance is trying to determine which electives o offer next year. and have decided to take ap

Which would represent their polling population?

A) Students at the school whose student I.D. ends with and odd number.

All students in the school
C) All students in the state
D) All adults in the state
ore of 610 is two standard deviations below the

13. In a set of test scores that is normally distributed, a sC |
mean, and a score of 644 is one standard deviation above the mean. What was the mean sgores?
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A) 12 B) 574 C) 628 (D) 634 [ i Se s« e
e (110 . .
o\d + 3o ) : pHlp - VL H(p B4 ) 2Sx
. . . , sin@ ., c0s8\ . rpeh [ SN sne
14, Which expression is equivalent fo: - cost (ms =¥ sme) 089 | =—— .@.-—; |
! 45
A) sin@® B) cos© C) - L

15. The radii of two concentric circles are 5and 13.  Find the length of the Chord.

A) 8 B) 12 C) 16 24 vz L Y

What is the approximate length of the arc on a circle formed by an angle of 2r1/3 radians, and a radius
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X5 | ax#3
x—4  x=5
e © |
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A) -13 B) -1 C) 1

19. Which function is equivalent to y= x2—éx + 3

A) y=(x-3)2+12 \j - A = X'L — o™
B y=(x=3)2-6 -3 s Keo=toh

C)  y=(x-329 Wt bz (k-3
D) y=(x-3)2+ 6 \j = (X’%)L — Lo

L. o , x%*-3x-10 X+ 2
Which expression is equivalentto ————— +— —————
x2—-2x—-15 X2+7x+12
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